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Time: 50 Minutes
Calculators are NOT permitted.

Instructions:

1. DO NOT OPEN THIS QUESTION BOOKLET UNTIL YOU ARE
TOLD TO DO SO.

2. Write your name and registration number on the cover of this
question booklet.

3. If the information printed on your answer sheet is not correct, please
inform the invigilator immediately.

4. Please use a pencil and write your answers neatly ONLY on the
answer sheet provided. DO NOT write or draw in the circle next to
each answer box. No mark will be given if you failed to follow this
instruction.

5. Unless otherwise specified, all answers must be in exact value and in
its simplest form. Writing the units for the answers is NOT necessary.

6. Rough-work sheets provided will be collected at the end of the contest
but they will not be marked.

7. Diagrams in this question booklet are not necessarily drawn to scale.
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1) 77+23=2 [1%]
2) 289+314=2? [1%]
3)  802-743=7 [1%]
4) 144 -82=7 [1%]
5)  25x8=7 [1%]
6) 49x9=2 [1%]
7 177 +3=72 [1%]
8) 2020 +4=7? [1%]
9) 20X 29+37 x20+20 X 35=7 [1%]
10) 24X 7+15x8+12X8-4x36=72 [1%]
1) 11+12+13+..+18+19+20="7 [1%]
12) 1+2+..+9+10+9+ . +2+1=7? [1%]
13) 35x5+225="7 [1%]
14) 451 +145+514="7 [1%]
15) 125 x 32 %x25=7? [1%]
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16) An egg tart costs $6. Tom pays for six egg tarts with [2%]
$40, how much change should he receive?

—HEEE 6 JC. NEA{T 40 TEEEAHERE. B
A CIEZ

17) A bag of cookies costs $15. A box of chocolates costs ~ [2.1%]

$18. How much do 3 bags of cookies and 7 boxes of
chocolates cost?

—EHEE 15 T/ —élﬁﬁjjﬁ 18T, 3 &
gef 7 Ehm I EZ DT
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18) Find the missing number. 12.2%]

ARG ERETE

1,5,9,13, 7 ,21,25,..

19) If some pencils were evenly distributed to seven kids, [2.3%]
each kid can get 7 pencils. At most how many pencils are
there?

A—LEHE, IREHPHRTA/NMNER, BARTE
TX. BRZAHEZ DX

20) Whatis % of 757 [2.4%]

75 B % S 509
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21) Tom has 16 apples. Peter has 8 apples. How many apples [2.5%]
should Tom give Peter such that they will have the same
number of apples?

MREER 16 @, MEFER 8 E. FNBEELHS
NEBDMEER, A AMEZAREREBEAR?

22) What fraction is the shaded part of the whole figure? [2.6%]

EhZRMBoEEERNET 24

"B
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23) A has $15 more than B. B has $12 less than C. If C has [2.7%]
$25, how much do A, B and C have altogether?

HibkZ2 % 1575, Z,ttﬁi‘ 127t. MRAE 25T

SAEFZOT

24)  The three sides of a triangle are equal in length. It is a/an [2.8%]

? triangle.
—E=RAEN=(FeREMRER. E&—@__ "

=

25) If the sum of all digits of a 4-digit even number is 31, [2.9%]

what 1s the smallest possible value of the number?

—EmMEHSEHRFZME 3, EEHZNMES

2
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26) How many integers are there from 20 to 2021? [3%]

B 20 8 2021 & MEEEH?

27)  In order, we times 2, add 2, divide by 2 and then minus 2 [3.1%]
to a number, and the answer i1s 6. What is the number?

BEEREERIL 2, BN 2, BRI 2, BE 2, &%
BH 6, MEEHES?

28) When working on a subtraction problem, Tom mistakenly [3.2%]
wrote the units digit of the minuend as 5 instead of 8 and
the hundreds digit of the subtrahend as 4 instead of 2. The
resulted difference is 286. What is the correct answer?

NRTERTE M BRI AR B HORERE LA 8
B S, HEHEBMEE 2 FK 4 SHRNER
286, EHIEZEREZD?
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29) Tom and Peter have 50 candies altogether. If Tom gives half [3.3%]
of his candies to Peter, Peter will have 8 more candies than
Tom. How many candies does Tom have originally?

INEBF/NEEBER 50 KL, NBIEBECHIER 5—
NGRS, INEIELL/NAEZE S KIER , R/NARES
MERZ DRL?

30) A factory needs to manufacture 3200 components. [3.4%]
40 workers take 10 days to finish it. How many more
workers are needed if they have to finish it two days earlier?

—BIIREMT 3200 4F4H, 40 BT AFE 10 X(E
AER. MRELREEREEMKXTHR TEEENS
MEATAN?
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31) Define [ ®]: [4%]

Tk O]

@) a<b,a®@b=(b-a)x2xaxb
() a>b,a®b=(a—Db)x(a+h)

Find the value of (3 @ 4) ® 10.
KG®4) @10 HE.

32) [Itis given that 15t February 2820 is Saturday. Which day of [4.1%]
the week is 1% February 28237

Ef2820 FF2 A1 HREHiN, 2823 F/2 A 1
HEEHj4?
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33) Tom and Peter are lining up. Tom 1is in the 5th place of [4.2%]
the queue. There are 5 people behind Peter in the queue.
There are 3 people in between Tom and Peter. At least

how many people are there in the queue?

INERFNEAE HER B2 RIS, B A0/ BR HEAE PR
FRERA, DNERNEREE S BEE . MBS
ZHAE 3 BEE. ARAbEIEZDOAN?

34) 1-2-3+4+5-6-7+...+2017-2018—-2019+2020+2021=? [4.3%]

35) If a 5-digit number 471AB is divisible by 13, what is the [4.4%]
greatest value of A+ B?

MR AAE 471AB TTIL#E 13 #R, K A+ B HIRX
&,
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36) Two numbers are multiplied together. If one of the numbers [4.5%]
is increased by 8 while the other number remains
unchanged, the product will increase by 48. If both numbers
are decreased by 5, the product will become 12. Find the
original product.

FRi8HRPIFELINT 48, ME WA E R S, B
BSHRER 12, KIRAMEMERSHBTE.

37) 15 years ago, the age of Tom is 3 times that of Peter. This [4.6%]
year, the age of Peter is half of that of Tom. After 15 years,
what 1s the sum of their ages?

15 4R, NBRIEERE AR 3 5. SENBIER
SNREI—E, 15 Fih, — AERARESDE?

P10
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38) Tom drank half of a bottle of soft drink and then half of [4.7%]
the remaining. Later, he refilled the bottle and drank half
of it. If Tom has drunk 1 L of soft drink altogether, what is
the capacity of the bottle in mL?

B—isk, MNPEBET—F, BIEEHTERK
H—3%. %R&, NIBEREFEmERK, BBRE—
FBK. HRNPA—HIBT 1 AHIARK, BMEFHE

EREDER

39) When a bag of candies 1s evenly distributed to 4, 5 or [4.8%]
6 people, there is always a candy left. At least how many
candies are there?

A—GfE, FHAE4EA. SEA. FeEA,
HABT—HIER. HEQERVES DH?

P11
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40) How many rectangles below include exactly one [4.9%]
black dot?

SZWE, BFEZIERAEAGE—(ERE?

End of paper
£E5T

P12
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